THIVEE

A L C LK
e B — COD¥EE! | A(##BIA) FHERERVHERZEESE
) St.1 ER-BER T (@A) AR E RS EE (=)
—iRIEH _
7Kg (°C)
1 X [SsECC) b fE 2 KE FERE iR =18 R
48 =l 13.5 15.0 - 2.0 2.0 BE kER-th| &|E
68 g 23.0 23.0 — 2.0 1.0 BE x| ®|BE
8H| B&Y 31.0 25.7 — 4.0 4.0 BE kER-%| BR
108 =) 26.1 26.0 - 4.0 1.5 BE kER-h| E|R
128 Eh 16.1 16.5 - 3.0 3.0 BE kER-h| &|R
28| fBh 9.5 13.5 - 24 24 BE | HEe-R| H#E
4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0351 F_ | 0.03LLF
EHE(75%IE) - 7.9 1.8(2.0) 52 <0.5 0.40 0.031
4H == 8.1 7.6 1.9 110 <0.5 0.43 0.024
hE - - - - - - -
65 == 7.9 8.3 2.2 13 <0.5 0.81 0.047
hE - - - - - - -
8H == 8.0 7.5 1.6 4.0 <0.5 0.26 0.029
8.1 7.5 1.7 0.0 <0.5 0.27 0.033
10A ;E ~ = = = — = =
7.8 7.7 2.0 170 <0.5 0.48 0.039
12R th B = = = — = ~ =
25 == 8.2 8.9 1.6 17 <0.5 0.15 0.015
fE - - - - - - -
BEER (RBDAEHAD
NP INIESDY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
"y B&R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -




TEIORRILETZE #osa | vy | TAY | moby | bl [MRERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#EE] 001LLF [0.002F [ 0.006LLF [0.003LLF | 002LLF [ 0.01LAF [ 001LLF | 10LLF
E3510E - - - - - - - -
48 = = = - - - - -
68 - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
128 - - - - - - - -
2H - - - - - - - -
ZTDHIEE
Iz/—) i SS 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE] - - 2 - - -
T - - 1 - - -
—_ —_ 4 —_ —_ —_
—_ —_ 3 —_ —_ —_
—_ —_ 2 —_ —_ —_
10A ; E = ~ Z — Z -
—_ —_ <1 —_ —_ —_
124 ; E — — ~— — — —
—_ —_ ‘I —_ —_ —_
28 —2E - - ! - - .
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
FEHIE| 16000 - -
E e 14000 - -
9700 - -
18000 - -
19000 - -
10A ; E ~ — —
16000 - -
124 ; E ~ — —
19000 - -
28 —2E 0 - -




THIVEE

A L C LK
5 B — COD¥EH! [A(HH#EH) FEIERUVHRZESE
" St.2 EF-BEY 1 ES) KEKEREESE (=)
—iRI5H _
K& (°C)
1 X [SsECC) EA fE 2 KE FERE i =18 R
48 =) 13.5 15.0 - 17.0 9.5 BE kEfR-th| &|E
68 N 23.7 22.0 — 15.0 7.5 BE kER-h| E|R
8H| B&Y 31.0 25.5 - 14.0 4.7 BE kER-E| BR
108 £ 25.8 26.0 - 8.8 2.5 BE kER-h| E|R
128 Eh 16.0 16.5 - 9.0 7.9 BE kER-h| E|R
2A| fBh 9.5 13.0 - 8.2 6.0 BE | ERe-k] RS
4FRIEIER _ _
oH DO COD | XBEEM n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%lE] 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0351 F_| 0.03LLF
EHE(75%IE) - 8.1 1.6(1.7) 23 <0.5 0.17 0.015
48 == 8.1 75 1.8 27 <0.5 0.22 0.019
th 8 8.2 8.3 15 2.0 - 0.13 0.013
65 == 8.2 8.0 1.4 2.0 <0.5 0.13 0.011
th8 8.2 7.8 1.3 0.0 - 0.14 0.012
8H == 8.1 8.4 15 0.0 <0.5 0.13 0.015
th8 8.1 8.0 1.7 240 - 0.24 0.024
108 == 8.2 7.7 15 0.0 <0.5 0.25 0.016
th8 8.1 7.5 1.7 0.0 - 0.19 0.021
128 == 8.2 8.0 1.7 0.0 <0.5 0.19 0.015
th8 8.2 8.1 1.8 0.0 - 0.27 0.017
25 == 8.2 9.2 1.6 0.0 <0.5 0.07 0.011
thE 8.2 9.2 1.5 0.0 - 0.09 0.011
BEER (RBDAEHAD
NP INIES DS ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BE#(E] 001LLTF | JE#H | 001LLF | 005LLF | 001LLF [0.0005LLF | JERH JERRH |
EfE]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 = <0.0005
47 - - - - - - - -
6Bl <0002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
8H - - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
128 - - - - - - - -
2Al - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S00
Ay B®R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006LLF | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
47 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2Al - - - - - - -




FhS40n(1,3->4n = N FARY T . BRMEERERU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001 F | 001LLF 10LLF
E{E]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
41 - - - - - - - -
6Bl <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8A - - - - - - - -
108] <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
128 - - - - - - - -
2A] - - - - - - - -
ZTD{hIEH
RILL
Jz/—) R SS ey |(sookILA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl <002 - 1 <0.005 <0.001 <0.008
E3E] — — 1 <0.005 — —
‘A T om - - 1 - - -
65 == <0.02 — 1 <0.005 <0.001 <0.008
E T : ‘ ; - -
— — 2 <0.005 — —
8
Ao | - 3 - - -
108 == <0.02 — 2 <0.005 <0.001 <0.008
E T : ‘ ; - -
- - A <0.005 — —
12R th S - - 2 = - -
x B - - 1 <0.005 — —
2
Bkt | EINERME . .
(mg/1) (mg/1) (mg/1)
E¥1E] 19000 - 0.01
=B 18000 - 0.01
4R h8 | 19000 n .
65 == 20000 — <0.01
] 20000 — —
8 g =B 19000 - <0.01
B 19000 — —
=B 19000 - <0.01
10A th S 19000 - -
=B 19000 - 0.01
128 th S 19000 - -
25 =B 19000 - <0.01
B 20000 — —




THIVEE

BA L CILHKE
e BxEs - CODE®! |A(H#EH) ;ﬁ;i;%?SLUEE E,Eﬁiﬁ
St.3 ER-BEB T GEBS) RAEKEREESE (=)
—i%IEH _
K& (°C)
1 X [SsECC) =B fE 2 KE FERE i =Xz B&
48] =Y 13.4 16.0 - 18.0 12.0 BE | FRe-RE| EBR
64 Eh 23.7 22.0 — 17.0 7.0 BE kEf-h |
8H| ==Y 29.0 25.5 - 15.0 55 BE ERE-E| &R
108 =) 25.6 26.0 — 15.0 6.0 BE ke |
128 Eh 16.2 17.0 — 15.0 10.0 BE kEf-h |
28| f#Eh 95 14.0 - 16.0 6.5 K N W= A d B
4RIRIRIBER _ _
oH DO CcOoD KIGERY In-~FHoH 22F Ey
i (mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RElE| 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.3LLF | 0.03LLF
EHE(75%E) - 8.2 1.4(1.5) 21 <0.5 0.18 0.013
48 =B 8.2 8.1 1.3 2.0 <0.5 0.12 0.015
th[E 8.2 8.3 1.3 2.0 - 0.10 0.012
65 =B 8.2 7.8 1.2 2.0 <0.5 0.14 0.011
th[E 8.2 7.7 1.2 0.0 - 0.09 0.006
8H =B 8.1 8.5 1.7 0.0 <0.5 0.14 0.013
th[E 8.1 8.3 1.6 240 - 0.28 0.015
108 =B 8.2 7.8 15 0.0 <0.5 0.22 0.017
th[E 8.1 75 1.7 0.0 - 0.24 0.018
128 =B 8.2 8.1 1.4 0.0 <0.5 0.19 0.014
th[E 8.2 8.1 1.1 0.0 - 0.28 0.015
25 =B 8.1 9.3 1.2 0.0 <0.5 0.17 0.012
thE 8.2 8.6 1.0 0.0 - 0.20 0.011
BEEB (RBDHAEHR)
LININIESY P E ANlo0OL TS fikER |7ZL¥LKE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H | 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JERRH |
EfE]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 = <0.0005
48 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
8A - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
128 - - - - - - - -
28 - - - - - - -
oyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
sy B THY IFLy | BAIFLY | OIAY nxsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.0020F [ 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2Al - - - - - - - -




Fh540n(1,3->4n = N FARY T . BRMERERU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ELAE{E] 0.01LLF 10.002LLF | 0.006LLF [ 0.003LLF | 0.02LLF | 001LLF | 0.01LLF 10LLF
E¥fE|  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
48 - - - - - - - -
68| <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8A - - - - - - - -
108] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
128 - - - - - - - -
2A] - - - - - - - -
ZTD{hIEH
RV L
Jz/—) R SS 2y |(sookILA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE] <002 - 1 <0.005 <0.001 <0.008
== - - {1 <0.005 - -
4ﬁ ¢E _ _ .I _ _ _
65 == <0.02 — 1 <0.005 <0.001 <0.008
E T : 2 ; - -
— — 3 <0.005 — —
8
Ao | - 3 - - -
108 == <0.02 — 1 <0.005 <0.001 <0.008
E T : ‘ ; - -
— — {1 <0.005 — —
1 2 ﬁ q: E _ _ <1 - — —
== — — {1 <0.005 — —
Bty | EEEY . .
(mg/1) (mg/1) (mg/1)
EHTE] 20000 - 0.01
45 == 20000 - <0.01
] 20000 — —
65 == 20000 — <0.01
] 20000 — —
8 g == 19000 — <0.01
] 19000 — —
== 19000 — 0.01
10A th [E 19000 - -
== 19000 — 0.01
128 th [E 19000 - -
28 == 20000 — <0.01
B 20000 — —



THIVEE

AL C LK
e BRE — COD#EE! [A(E#EH) FEIERUVHRZESE
" St.5 EX-BED I GGEBR) KR KEREESE (=)
—iRI5H _
K& (°C)
1 _XE [KE(CC) =E fE 2IKR A Fiin =Xz R
48 £ 14.0 16.0 - 14.0 14.0 BE k-2 ER
68 N 24.0 22.0 — 14.0 7.2 BE kER-h| E|R
8H| BZY 30.5 25.0 - 12.0 5.7 BE kER-E| BR
108 £ 24.9 26.0 - 15.0 5.5 BE kER-h| &|R
128 Eh 16.1 16.5 — 15.0 9.3 BE kER-h| &|R
28] BEh 10.0 135 - 16.0 7.0 BE | ERe-k] RE
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9E (meg/1)|  (mg/1) (mg/1)
=%1E] 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH 0351 F_| 0.03LLF
EHE(75%IE) - 8.1 1.3(1.4) 2.5 <0.5 0.17 0.013
4H == 8.2 8.2 1.2 0.0 <0.5 0.11 0.011
th & 8.2 7.5 15 0.0 - 0.11 0.012
65 == 8.2 7.4 1.1 0.0 <0.5 0.10 0.008
th & 8.2 7.9 1.4 0.0 - 0.11 0.006
8H == 8.1 8.5 1.6 0.0 <0.5 0.17 0.015
th8 8.1 8.1 1.4 30 - 0.22 0.017
108 =B 8.2 7.8 1.3 0.0 <0.5 0.25 0.015
th8 8.1 7.5 15 0.0 - 0.43 0.019
128 == 8.2 8.3 1.1 0.0 <0.5 0.17 0.013
th8 8.2 8.1 1.3 0.0 - 0.22 0.014
25 == 8.1 8.6 0.8 0.0 <0.5 0.10 0.014
thE 8.1 8.7 1.2 0.0 - 0.09 0.013
BEEE (REBDHEHA)
HREIHL | 2TV ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLTF | JE#EH | 0018 F | 005LLF | 001LLF [0.0005LLF | JERRH JERRH |
EfE]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
478 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
8AH - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
128 - - - - - - - -
2Al - - - - - - -
oyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay o IAY IFLY OaxTFLY aT4y aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8AH - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2Al - - - - - - -




FhS5490nm(1,3-o40 = St FARY So a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ELAE{E] 0.01LLF 10.0028LF | 0.006LLF [ 0.003LLF | 0.02LLF | 001LLF | 0.01LLF 10LLF
E{E]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
47 - - - - - - - -
6Bl <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8AH - - - - - - - -
108] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
128 - - - - - - - -
2A - - - - - - - -
ZTD{hIFH
RV L
Jx/—) R SS 2% |(snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE| <002 - 2 <0.005 <0.001 <0.008
== - - 2 <0.005 — —
4ﬁ I:PE _ _ <1 _ _ _
65 == <0.02 — 3 <0.005 <0.001 <0.008
e - - ‘ ; - -
— — 3 <0.005 — —
8
Ao | - 3 - - -
108 == <0.02 — <1 <0.005 <0.001 <0.008
b= - - <1 - - -
== — — {1 <0.005 — —
12R h S - - 2 = - -
== — — {1 <0.005 — —
Bty | EEEY . .
(mg/1) (mg/1) (mg/1)
E¥E] 20000 - 0.01
45 == 20000 - <0.01
] 20000 — —
65 == 20000 — <0.01
] 20000 — —
8 g == 19000 — 0.01
] 19000 — —
== 19000 — <0.01
10A th [E 19000 - -
== 19000 — 0.01
128 th [E 19000 - -
28 == 20000 — <0.01
B 20000 — —



THIVEE

AL C LK
e B — COD¥E®! | A(##BIA) FHERERVHERZEESE
" St.6 EX-HEY I (EER) KR KEREESE (=)
—iRI5H _
K& (°C)
1 Xg [sECC) =E fE 2 KE FERE Fiin =Xz R
48 =l 13.5 15.0 - 32.0 13.0 BE k-2 ER
68 N 23.8 22.0 — 31.0 12.0 BE ExkE-R| &R
8H| BZY 28.0 24.2 - 31.0 7.1 BE Exfe-E| ER
108 £ 25.1 26.0 - 32.0 8.0 BE kER-h| &|R
128 Eh 15.9 175 - 24.0 8.7 BE Exfa-h| &R
28| fBh 9.0 15.0 - 28.0 12.0 BE | ERe-R]| HRE
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0351 F_| 0.03LLF
B (75%IE) - 7.9 1.4(1.5) 0.0 <0.5 0.14 0.014
48 == 8.2 8.2 15 0.0 <0.5 0.1 0.011
hE - - - - - - -
65 == 8.2 7.3 1.2 0.0 <0.5 0.11 0.008
hE - - - - - - -
8H == 8.1 8.4 1.3 0.0 <0.5 0.13 0.012
8.1 7.6 15 0.0 <0.5 0.16 0.018
10A ;E ~ = = = — — —
8.2 7.8 1.3 0.0 <0.5 0.21 0.019
12R th S - = = = = = =
25 == 8.1 8.2 15 0.0 <0.5 0.14 0.013
fE - - - - - - -
BEEE (REBDHEHA)
NP INIESDY & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 001LLTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -
ooyoni| mie [1,2->200] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | )00
Ay o IAy IFLY OaxTFLY AaT4y oxT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006LLF | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2 —_ —_ —_ —_ —_ —_ —_ —_




FrS40m(1,3-24n - . yse FAARL So s .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H#E{E] 0.01LLF [0.002L0F [ 0.006 L F | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
EFEjE — — — — — — — —
48 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
10A - - - - - - - -
124 - - - - - - - -
28] - - - - - - -
ZTDHIEE
Jz/—)L i SS 2ER |soofkus| LR
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE : ; : : :
=B = = < - - -
4H ;E _ _ _ _ _ —
—_ —_ 3 —_ —_ —_
—_ —_ 3 —_ —_ —_
108 ; E = ~ - — _ -
128 ; E = ~ - — _ -
2H g — — = — — —
BiL | EWHERE | . e
(mg/1) (mg/1) (mg/1)
FEHIEl 19000 - -
=B 19000 - -
20000 - -
19000 - -
19000 - -
108 ; E ~ — —
19000 - -
128 ; E ~ — —
20000 - -
2H g = — —



